MAT 131 Calculus I
2021 Fall

Exam 3 Review Solutions

1. (a) Estimate the area under the graph of f(x) = x> — x + 4 on the interval [1,4] using
6 approximating rectangles and right endpoints.
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(b) Repeat part (a) using left endpoints.
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2. (a) Express the limit as a definite integral
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(b) Evaluate the in’aegral by interpreting it in terms of area of a familiar shape.
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3. Use the definition of the integral (Theorem 4 in Section 5.2) to evaluate I3 —x%dx Tt
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4. Find the general antiderivatives of the following functions.
@f(x) =x>—2x
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(b) f(a) = sina
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5. Use logarithmic differentiation to find the derivative of (sinz)vZ.
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6. Differentiate the following functions.
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7. Evaluate the integrals.
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8. Solve for x in each of the following equations.

(@) In(x? + 1) = 31n(x) = In(2).
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9. Find the equation of the tangent line to the graph f(z) =2#* at the point (1,2).
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10. Compute the derivative of the function
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